ERAETECH

Master(PLC)?} Slave(Motono| T2 E=

1. PLCE Master &i20|1 Motor= Slave ggt2 ofL|Ct.
2. Master(PLC)7} Slave(Motor)2 O|O|E M&dl= dhHe RS485 EA1 QIL|CH
- BaudRate:= #X{ 9600bps(default) Q|L|C}.
9600, 14400, 19200, 28800, 38400, 57600, 76800, 115200, 230400, 250000 S0| 7ts%fL|LCt.
- ©OJEf &It £A12 "Hand Shake’ @Al QIL|T} Master(PLC)7} B HO|EHE Ui 2ES SE GO|HE BT 3, 9H0|E

o
HOIEHE T&5tH ZE= 100[usl(AlZh 242 =8 7ts) oL S & CIO|H 9HIO|EE EH”L|CH

o

3. Master(PLC)7} Slave(Motor)2 0|O|E NM&
- 1% 12 Master(PLC)7t Slave(Motor)2 H|O|HE M&St= O|O|E =S L|Ct 9ByteZ2 T E L|CT

—

Bytes | Meaning Bytes  Meaning

1 Module address 1 Reply address

|1 Command number E Module address

1 Type number |1 Status (e.g. 100 means *no error’) |
|1 Motor or Bank number 1 Command number

4 Value (MSE first!) & Value (M5B first])

1 Checksum 1 Checksum

a8 1 32E0M 2EZ HEEE= Ho|E =% a8 2 3AE7} REZEE fME|= HO|E =2
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_ 0217|k| Checksum 7-'||*|_|'% Ef%j_l- 7EI-§|_| EHCO._101§ :E'C'i)

unsigned char i, checksum;

unsigned char command[9];

checksum = command[0];
for(i=1;i < 8; i++)
{
checksum += commandl(i];
}
command[8] = checksum;
- 2|9} Z+0| command[0]5¥E{ #=AMLCHE command[8]7tX| M&&HH E L|C}
- 18 2= Master(PLO)7t Slave(Motor)2 H[O|HE 4I5l= C|O|& =S¢ /L|Ct 9Bytez & L|CH

- 12I32 12120| 3HR| HFO|E “Status code”0 CHSH Zd QiL|Ct.

Code | Meaning

100 Successfully exequted no error
101 Command loadad inta TMCL
program EEPROM

Wrong dhecksum

Inwalid command

Wrang type

Invalid value

Configuration EEFROM lo died
Command not available

o | e || P |

2! 1 Status code
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4. Master(PLC)7} Slave(Moton0f| A “AtHZ0f et 7|2 AF & S4 X =4

- of2f He ZH WREHZE2] #XQt "o g tist M& HIO|HE oAl gL|Ch

- O7|M "&Al"2 Master(PLC)7t Slave(Motor)Of| A 9HIO|E H|O|H F&0[1 "$=41"

DH Bz "0x01" QLICH
= =& HojE Lt

r

Mo L2 M 22 HX] Of| Xf| Zt(4byte) Master(PLC)7} Slave(Moton)2 H|O|EH HZ&
HEZo| H= 9 9 (0x09) 12 (0x0000000c¢) S 0x01 0x09 0x09 0x02 0x00 0x00 0x00 0xOc 0x21
=AMl 0x01 0x01 0Ox64 0x09 0x00 0x00 0x00 0xOc Ox7b
ArQIRIX| 10 10 (Ox0a) | 12345 (0x00003039) S 0x01 0x09 0x0a 0x02 0x00 0x00 0x30 0x39 0x7f
=4 0x01 0x01 0x64 0x09 0x00 0x00 0x30 0x39 0xd8
18! 0|5 9Q|X| 11 11 (0x0b) | 1600 (0x00000640) S 0x01 0x09 0xOb 0x02 0x00 0x00 0x06 0x40 0x5d
=4 0x01 0x01 0x64 0x09 0x00 0x00 0x06 0x40 Oxb5
28 0|59 K| 12 12 (0x0c) | 1900 (0x0000076c) S 0x01 0x09 0x0c 0x02 0x00 0x00 0x07 Ox6c 0x8b
=AMl 0x01 0x01 0x64 0x09 0x00 0x00 0x07 Ox6¢ Oxe2
nEl 0|59 X| 10+n 22 (0x16) | -1850 (Oxfffff8c6) A 0x01 0x09 0x16 0x02 Oxff Oxff Oxf8 Oxc6 Oxde
Z=A 0x01 0x01 Ox64 0x09 OxOff Oxff Oxf8 Oxco Ox2b
Hols = 20| 10+n+1 | 23 (0x17) | O (0x00000000) S 0x01 0x09 0x17 0x02 0x00 0x00 0x00 0x00 0x23
= 0x01 0x01 0x64 0x09 0x00 0x00 0x00 0x00 Ox6f
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5. Master(PLC)2} Slave(Motor)2| State

- Of2f B Z stateO| Al Master(PLC)2} Slave(Motor)e| 9atE Ho|st A

state Master(PLC) Slave(Motor) H|
S1 -HZ TH|ot= HEl -CH7| ER
o -mOUT1E HIGH A2 OlF
-sOUT1E HIGH
s3 -HE A5
-mOUT2E HIGH
-1HE ?IXIZ 0l
> -sOUT2E& HIGH
-mOUT2E LOW -sOUT2E LOW
S5 -ME cutting FAZHIRHED
-mOUT2E& HIGH
2HE ?IXZ Ol
>0 -sOUT2& HIGH
-mOUT2E LOW -sOUT2E LOW
S7 -HE cutting ZHREHE)
-mOUT2E HIGH
-nHE XK= 0|5
>8 -sOUT2& HIGH
-mOUT2E LOW -sOUT2E LOW
S9 -ME cutting AZHNHE)
-mOUT2E& HIGH
510 -HE S0 -HOMEO| =

-mOUT11} mOUT2E LOW

-sOUT1E LOW
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- 1% 4= Master(PLC)2t Slave(Motor)Q| state0f = I/O signalof CHet Zd QL CH

—S1—9—S2—+—S3—3—S4—»—S5—p—S6—H—S7—» «— S8 ¥—S9—r——S10—
Master(PLC) -

mOUT1 :

C1 C2 C1 C2 C1 : C2 C1

mOUT2§

Slave(Motor)

SOUT1 :

SOUT2 :

% 4 Master(PLC)2} Slave(Motor)2| state®} I/O signal
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- J85s /O ZE HZARE)0 et A1 ARM 2S(REF)0| gt A L(ct

/IO £E A&
Master(PLC) Slave(Motor)
mOUT1 sIN1
mOUT2 sIN2

mIN1 sOUT1
mIN2 sOUT2
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